Chapter 10 Review Worksheet Name: L k£ \l

For the given configuration, determine how many different license plates are possible if (a)
digits and letters can be repeated, and (b) digits and letters cannot be repeated.

1.) 1 letter followed by 6 digits 2.) 2 digits followed by 5 Ietters b Z,b
24 +10 410 -10-10 0 l_'“’ 'J-”

a
“Z\o N) 000 \) (kﬂ

by 272 by R B L T L - -
m| :[ij’q?r, 000 ploat e |
Find the number of distinguishable permutations of the letters in the word. W
3.)SOUTH g5l 4.) DELAWARE Z('B‘Z’ 5.) MISSISSIPPI eIl

Wﬂ\\“&’ﬂ/i\ |10, 080 wmuwmjorﬂ B, 620 prmutanons

6.) A men’s department store sells 3 different suit jackets, 6 different shirts, 8 different ties, and
4 different pairs of pants. How many different suits consisting of a jacket, shirt, tie, and

pants are possible? 3 \ﬂ <5 ‘-‘} =570 suvk QBYY\b\Nk)ﬂ NS

e ——

7.) You are placing 12 pictures on separate pages in an album.

a.) How many different ways can you order the 12 pictures in the album?

1Z-1-10-9-3-1-%-9-4y -3-2-3 o 12}

= [479.001 40 tL\,m,x_%sJ
b.) How many different ways can 4 ot the T2 pictures be‘placed on the first four pages?

~W%0 NMSJ

Find the number of possible 5-card hands that contain the cards specified. The cards are
taken from a standard 52-card deck.

8.) 3 face cards and 2 tens 9.) 2 spades and 3 red cards
|2 C_,3 4Nt Ct 13 Cl /A (3 .
11320 nonds) - [202, $00 nands |
\D, 4 GC NOT
10.) at most 2 clubs ? (C:l‘: Lisooé‘ 7 11.) atleast 1 diamond 2, %%t 0P, 50¢
JcL, 30¢ Total- (0D, 500) 3\1%, 10<
5o 3005 T iC, t 300y + 3 61'34‘1(’3 62 (5~ (1300 5aCs) kA
¥ \3\%0 S
515,757 + 109,203 + 712, 2,543,900 - 575, 151 = \zozazos h&udj),

12,357, 3v2 nanQs|
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1z |
Use the binomial theorem to write the binomial expansion. | ‘ 4 > Sq : \

12.) (4x — 1)° , | l\osl;ql‘;m\‘.)siall
\ 1 = 2{_n\'1
\("‘X)"K?ﬁa-r \ﬂ(“h(\s('n . \SU\X)“L'D ¥ ZOLL‘X\) [ n + \5("1)() ( l) + 4 (L‘K)‘ ("DS 1] 3°l"|)b

%%'X” v \07,5"")(5 ¥ \5‘25\0'\'X‘1T20'WL'_':|'X3 P19 ol Xt -4 -l'x +\+]
409X 144 x® + 3340x - 120X + 240%™~ 29 + 1]

) (8x +y)* ! 3 b
\(zg‘*)tiﬁ"? P 9 30T L)+ 4 (B (9 - 16RTLY)

Hodpx? £ 4-9512x>Y + -t X YT+ Bxyry

| 4090%" + 204 3x°y B I L j

i st

14.) The student council consists of 6 seniors, 5 juniors, 4 sophamores, and 3 freshman.
1% FOotod studnts

a.) How many different committees of exactly 2 seniors and 2 juniors can be chosen?
(or d&r dooes NUT

WQ2'5C11LEM(NWW“T“Sil PGFTRY)

b.) How many different committees of at most 4 students can be chosen? \2 2

Ysiudents:  aofvlat Zohedintss | styding: 1 35
Cy * Cy + 3C/L ¥ C, =[H047T| 135
%Ly \'$ \ '3 ) QQEQDQLT*QQS

15.) An ice cream vendor sells 15 flavors of ice cream. You want to sample af least 4 of the 4 ¢

flavors. How many different combinations Qf ice cream flavors can you sample? JiEC
Total - (O FLAFL, 2 FL, 3FC o FL

2% - (150t sCi t 5Lz ¥ 15 Ls) | 3
o0 7 5,0k~ 5Ty - |32,192 Combinenions |

16.) A teacher is holding tryouts for the school play. There are 15 students trying out for 7

parts in the play. Each student can play each part. In how many ways can the teacher
select the students? ,\_Q_E‘ll does WNOT W“l} ]

15012 b, usH \mﬁ
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You have an equally likely chance of choosing any integer from 1 through 30. Find the
probability of the given event.

17.) An even number is chosen 18.) A multiple of § is chosen
SR B ﬁ
0 | Z 20 | D

19.) A factor of 60 1s chosen 1.\5| 20, 3(50.) A prime number is chosen

’\j: (1,23 4,549,101 0 ',_L_ (2.3,9,7,1,1317,19,23 29)
}__/23_ >0 :! 3 !

You randomly select a marble from a bag. The bag contains 7 black, 14 red, 6 white, and 13

blue marbles. Find the indicated odds. 40 Yot0d mMmarples
21.) In favor of choosing black 22.) In favor of choosing red or white

133 20:20

Ll

22.) Against choosing white 23.) Against choosing blue or white
24 ——
o1V &= i
Y | 2\ \‘1}

13

24.) Out of 250 work days, a commuter arrived at work on time 47 times on Mondays, 43 times
on Tuesdays, 48 times on Wednesdays, 39 times on Thursdays, and 40 times on Fridays.

For a randomly selected work day, what is the probab&ty that the commuter arrived at

work on time? TV (OMMUTLT QGYTINVEA on iy 2\1 VLY
0f Yhg 750 TOTM g

V(%W\g%\t \% = 0.\
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Find the indicated probability.

25.) P(A) =0.3 26.) P(A) = 35% 27.) P(A) =7
P(B) = 0.6 P(B) =? P(A) =.§.
P(AorB) =? P(AorB) = 80% Sy 2
P(Aand B) = 0.1 P(A and B) = 20% b (A)= ) )

P B)=03700-04  40fes 35%+ P 20% PN | E)

V(A ov \5\‘@ P (B) MJ

28.) A and B are independent. 29.) A and B are dependent. 30.) A and B are dependent.

P(A) =0.15 P(A) = 60% P(A) =7
P(B) = 0.6 P(B|A) =7 P(B|A) = 0.4
P(Aand B) =7 P(Aand B) = 25% P(Aand B) = 0.36

P(AAM BY= 01900 75%= @0% - PBIA) 0.3k - P(A)- 0.9

P (A and B) 0.0 PlelAY [T PAY0d)

Two six-sided dice are rolled. Find the probability of the given event.

31.) The sum is greater than 4. @ O3 O 08 EE EA
20 |5 Ol O COR O 2l
30 LW O O OF O8 COE B8

R I8 (8 (188 I8 CIEE
O O OE CRE CE8 I8

32.) Thesumis6or11. , O OF OE O OF DE
Plsborsi)- 35+ %5 || L won]

P(50) + P(SY) Eﬂd

33.) The sum is neitheréi)r 9 (o (U\)\’\T)
ECIRS L L f
\(550@31} \/ 30 30 - )/j pre f)

S\ -P(9)- P59 "

34.) The sum is greater than 7 and less than 11.

(ouwnt) o o
oo - @
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Find the probability of randomly selecting the given marbles from a bag of 5 red, 8 green,
and 3 blue marbles if (a) you replace the first marble before drawing the second and (b) you

do not replace the first marble. -
5 b A_\
35.) red, then green 0\3 S .3 - \_%)_ii b) v 15 ] __‘_Q_

\v \ o
S . s [ |
\ By e i
36.) blue, then red. Ok\ %’\0" 15‘0‘ = ‘Z"é:)'G \9) \bo 15 M

- 1 .| L
37.) green then green. (L\ _\E\J_ X _iﬁ_ﬁ - )ﬂ b) % | 1 30

Let n be a randomly selected integer from 1 to 20. Find the indicated probability.

38)nis2 given tha\t/iLi\sg@ \
\0 eNOUN RS 1O

39.) n is odd given that it is prime ’j?
2,35 7.0, BT § prime B } :

PRy

]

e —

40.)nisSgint/hat_it_is/le§s\lhgn\8 ”""
V2,549,501 7 #s L8 )

41.) You and 4 friends are in line at lunch and are each selecting a beverage. There are 5 types
of beverages available. What is the probability that all of you will select different

beverages? R T | N |
g 5555 S '.5\25!"\_9&%2%]

42.) A parachuter is attempting to land within a square in the middle of a circular landing area.
The square has sides 25 feet long, and the diameter of the landing area is 40 feet. If the
parachuter is equally likely to first touch the ground at any point within the landing area,
what is the probability that the parachutc;:r first touches ground withi_rrl}ﬁc;_sgua_re?

B d - 4o Ewe_m- W29 H’L 1 ,M—f,’:r’k 0.497
() aren s w (207 42 400 B L ~
- OOty §F

5
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43.) A high school has an enrollment of 1800 students. There are 1050 females enrolled in the
school. The high school has 1200 students who are involved in an after-school activity,
725 of whom are female. What is the probability that a randomly selected student at the

school is a female who is not involved in an after school activity?x\ 050~ 12 2= 325
— eemades NOT
o

— Wetd \n ottt
Taob =2 ~ o sy Schost aChviry

———

44.) A pet store has 18 light green parakeets (5 females and 13 males) and 25 sky blue
parakeets (15 females and 10 males). You randomly choose one of the parakeets. What

is the probability that it is a male or a sky blu|e parakeet? 4% YOV O pQy oLty
P(Mor PY= 55 + e R
P+ p(P) - TABOTYD

45.) A tennis player wins a match 55% of the time when she serves first and 47% of the time
when her opponent serves first. The player who serves first is determined by a coin toss
before the match. What is the probability that the player wins a given match?

ENONT ] Win (0N T3S * wing:
L 0.95

-\. .
Fuent. Lot (oin T35S - Wiy
L4 047

-

oo or |54 |
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